

Live I. Chats 2 Phone X Ques 34







CA Foundation - Accounts
2. Work in progress [WIP]
WIP. Cost incurred till now - \$1000 - Cost
$$$7000$$

Estimated cost of completion - \$800
NRV: (800) - estimated cost of comp.
+ 3000 - Estimated selling price
CIOD - estimated selling exp.
2100 - NRV
Inventory valuation - \$1000
3. Raw Material
Cost - \$500
NRV - Replacement cost
 \Rightarrow \$400
Row Material will be valued at \$400.
Jmp points:
1. Inventory valuation to be done at each Balance Sheet
Odate.
2. Example:
Product Cost NRV
A 2000 1800 \rightarrow 1800
B 3000 4100 \rightarrow 3000
5000 5900 4800

 \rightarrow Inventory to be written down to NRV on 9 tem by item basis.



CA F ILLUSTRATION 1

Surekha Ltd deals in 3 products P, Q & R, which are neither similar nor interchangeable. At the end of a financial year, the Historical Cost and NRV of items of Closing Stock are given below. Determine the value of Closing Stock.

Items	Historical Cost (in [₹] Lakhs)	Net Realisable Value (in ` Lakhs)
Р	38	42
Q	29	29
R	17	14

An <u>u-</u>	<u>9tems</u>	Historical cost (Flolakh.)	NRV (Elokhu)	CL.Stock
•				r s rokho
	P	38	42	38
	Ó	29	29	29
	Ŕ	17	14	14
	' \		-	

→ CL. stock is valued at lower of cost & NRV, whichever is Lower. → Inventory to be written down to NRV ON 9 tem by item basis.

ð

2. FIFO - First in First out



¥

ILLUSTRATION 11

The following are the details of a spare part of Sriram mills:

1-1-2022	Opening Inventory	Nil
1-1-2022 .	Purchases	100 units @ ₹ 30 per unit
15-1-2022	Issued for consumption Use	50 units
1-2-2022	Purchases	200 units @ ₹ 40 per unit
15-2-2022	Issued for consumption	100 units
20-2-2022	Issued for consumption 🖌	100 units

Find out the value of Inventory as on 31-3-2022 if the company follows First in first out basis.

Date	Receipts				Issued			CLStock		
	Unit	Rote	Amt	Units	Rate	Amt	Unit	Rate	Amt	
				215						
1.1.2022	Bal.		10				XXX	XXX	XXX	
1.1.2022	001	30	3000				100	30	3000	
15.1.2022				50	30	1500	50	30	1500	
12.2022	200	40	8000				^ 50	30	1500	
							200	40	8000	
15.2.2022				50	30	1500				
				50	40	2000	150	40	6000	
20.2.202				100	40	4000	50	40	2000	

Value of Inv- as on 31.3,2022 is ₹2000 [50 unit @ ₹40]

1



gllustration-3

A manufacturer has the following record of purchases of a condenser, which he uses while manufacturing radio sets:

Date	Quantity (units)	Price per unit
Dec. 4 🖊	900	50
Dec. 10 🛩	400	55
Dec. 11 🦯	300	55
Dec. 19 🖍	200	60
Dec. 28 🦯	800	47
	2,600	

Record of issues

Date	Quantity (units)
Dec. 5 🗸	500
Dec. 20	600
Dec. 29	- 500
Total	1,600

Valuation of <u>Inventory</u>

Date		Receipt	s	Issued			Cl. Stock		
	Units	Rate	Ŧ	Units	Rate	Ŧ	Units	Rate	₹
Dec4	900	50	45000				Qob	50	45000
Decs				500	50	25000	400	50	20,000
Dec 10	400	55	22000				400	50	20,000
							400	55	22000
						h			
Decl	300	S5	16500			2	400	5o	20,000
				-	19	-	400	55	22000
				1	112		300	55	16500
Dec 19	200	60	12000	11-			1400	50	20,000
			10	1 m			-400	55	22000
			0.				-300	55	16500
	-						200	60	12000
Dec 20	G			200	60	12000			
				300	55	16500			
				100	55	5500	400	50	20.000
							300	55	16500
Dec 28	800	47	37600				400	50	20,000
							300	55	16500
							800	47	37600
Der 29				500	41	23500	400	50	20.000
							300	55	16500
							300	47	14100
	→ Value of Cl. Inventory of 1000 unit is 250600								



ILLUSTRATION 4

In the same example of a manufacturer of radio sets given earlier, let us calculate the value of closing inventory using Average Price Method:

A manufacturer has the following record of purchases of a condenser, which he uses while manufacturing radio sets:

Date	Quantity (units)	Price per unit
Dec. 4	900	50
Dec. 10	400	55
Dec. 11	300	55
Dec. 19	200	60
Dec. 28	800	47
	2,600	

1600 units were issued during the month of Dec.

Average price -
$$50 + 55 + 55 + 60 + 47$$

5

Value of Closing 9nv. of 1000 unito = 1000@53.4 = ₹53400



<u>911.5</u>

A manufacturer has the following record of purchases of a condenser, which he uses while manufacturing radio sets:

Date	Quantity (units)	Price per unit
Dec. 4	900	50
Dec. 10	400	55
Dec. 11	300	55
Dec. 19	200	60
Dec. 28	800	47
	2,600	

Record of issues

Date	Quantity (units)
Dec. 5	/ 500
Dec. 20	600
Dec. 29	500
Total	1,600

Date		Receipt	s		Jssi	ved		Cl. Sto	nck.
	Units	Rate	Ŧ	Units	Rate	Ŧ	Units	Rate	₹
Dec 4 Dec 5	900	50	45000	500	50	25000	900 400	<mark>50</mark> 50	48000 20,000
DecTO	400	55	22000			-	800	52.5	42000
DecII	300	55	16500		13	cho	1100	53.18	58500
Decla	200	60	12000				1300	54.23	70500
Derzo			aidi	600	54.23	32538	700	54.23	37962
Dec 28	800	47	37600				1500	50.37	75562
Der29	C)			500	50.37	25185	1000	50.37	50377

Value of 1000 units = <u>750377</u>







ILLUSTRATION 7

From the following information, calculate the non historical cost of closing inventories using adjusted selling price method:



ILLUSTRATION 6

M/s X, Y and Z are in retail business, following information are obtained from their records for the year ended 31st March, 2022:

1696341

1575500

L1528235

-+115

Goods received from suppliers			
(subject to trade discount and taxes)	₹	15,75,500	
Trade discount 3% and GST 11%			
Packaging and transportation charges .	₹	87,500	
Sales during the year	_₹	22,45,500	
Sales price of closing inventories	₹	2,35,000	

Find out the non-historical cost of inventories using adjusted selling price method.

	₹
1. Selling brice of goods quailable for sale	
- Sales during year - 2245,500	
Sales price of closing Inv- 235000	24,80.500
2. Cost of Groods available for Sale	
Goods Received from Supplies - 1575500	
(47265)	
1528235	
Add: GIST @11+ 168106	
1696341	
Add: Packaging & Transb. 87500	(1783841)
Giross Margin	696659
Giross Margin º/o	696639 x 100
I (J	2480500
	= 28.09.1.
Closing Stock at cost = 235000 - <u>28.09</u> x 2350	00
J 100 ⇒	68989

CA Foundation - Accounts



ILLUSTRATION 8

From the following particulars ascertain the value of Inventories as on 31st March, 2022:













CA Foundation - Accounts -Yurch + COGS PQ.1

X who was closing his books on 31.3.2022 failed to take the actual stock which he did only on 9th April, 2022, when it was ascertained by him to be worth ₹2,50,000.

It was found that sales are entered in the sales book on the same day of dispatch and return inwards in the returns book as and when the goods are received back. Purchases are entered in the purchases day book once the invoices are received.

It was found that sales between 31.3.2022 and 9.4.2022 as per the sales day book are ₹ 17,200. Purchases between 31.3.2022 and 9.4.2022 as per purchases day book are ₹ 1,200, out of these goods amounting to ₹<u>500 wer</u>e not received until after the stock was taken. Goods invoiced during the month of March, 2022 but goods received only on 4th April, 2022 amounted to ₹1,000. Rate of gross profit is 33-1/3% on cost. -1/3 on cost 🗸

Ascertain the value of MARAAstock as on 31.3.2022.

COGS

Fhyercal Stock 9/4

17200

12.900

250,000

(700









	Amount [₹]
Value of physical stock as on 23rd Jun	ne, 22. 4800.000
Add: Groods Sent On Consignment , Unsold	240.000
Add: Purchases from 23rd June to 30th June	400.000
less: Cost of Groods Sold. Total Sales - 1360.000 C-> Groods Sent on App. (320.000) 1040.000 Less: Gross Profit Normel Sales - 920,000 x L = 184000	
Abnormal Sales - <u>C120,000</u>) <u>64000</u>	(976000)
Value of Stock as on 30th June	, 22. <u>44, 64, 000</u>

 $\begin{array}{c} -6000 \\ -6000 \\ 5150 \\ -6000 \\ 5250 \\ -6000 \\ 5250 \\ -6000 \\ 5250 \\ -6000 \\ 5250 \\ -600$





ILLUSTRATION 10

- Purch + Coys

Inventory taking for the year ended 31st March, 2022 was completed by 10th April 2022, the valuation of which showed a inventory figure of \gtrless 16,75,000 at cost as on the completion date. After the end of the accounting year and till the date of completion of inventory taking, sales for the next year were made for \gtrless 68,750, profit margin being 33.33 % on cost. Purchases for the next year included in the inventory amounted to \gtrless 90,000 at cost less trade discount 10 %. During this period, goods were added to inventory at the mark up price of \gtrless 3,000 in respect of sales returns. After inventory taking it was found that there were certain very old slow-moving items costing \gtrless 11,250, which should be taken at \gtrless 5,250 to ensure disposal to an interested customer. Due to heavy flood, certain goods costing \gtrless 15,500 were received from the supplier beyond the delivery date of customer. As a result, the customer refused to take delivery and net realizable value of the goods was estimated to be \gtrless 12,500 on 31st March. Compute the value of inventory for inclusion in the final accounts for the year ended 31st March, 2022.

	× O.1.	₹
	Value of Stock as on 10th Apr. 22	1675000
Add:	Cost of Groods Sold	
•	Net Sales C68750-3000) - 65750	
	L C-3 Girass Brofit [1/4 on sales] C16438)	49312
1	\mathbf{O} is the later of	
Less	Purchases from 1st Apr to 10th Apr	
lece	Decrease in the value of old class maying stem.	(6000)
(C3):	LII250-5250	
1		(300)
L <u>Css</u>	Leclease in the Value of Stock [15500-14500]	
	Value of Stock as on 31st Mar	<u> 1634312</u> .

CA Foundation - Accounts	
PO-3 Adv Or - No ellet	
J= To purk Mr	
The Profit and loss account of Hanuman showed a net profit of \checkmark 6,00,000, after considering the closing stock of \checkmark 3,75,000 on 31st March. 2022. Subsequently the	
following information was obtained from scrutiny of the books:	
(ii) Hanuman gave away goods valued at ₹40,000 as free samples for which no entry was made in the books of accounts.	
النزر) Invoices fo <u>r goods amounting to ₹2,50,00</u> 0 have been entered on 27th March, 2022, but the goods were not included in stock.	
(iv) In March, 2022 goods of $₹2,00,000$ sold and delivered were taken in the sales for April, 2022, Solar x 13 (a)t	
(v) Goods costing ₹ 75,000 were sent <u>on sale or return in March, 202</u> 2 at a <u>margin</u> of profit of <u>33-1/3% on cost</u> . Though approval was given in April, 2022 these were	
taken as sales for March, 2022.	
Calculate the value of stock on 31st March, 2022 and the adjusted net profit for the year	

Dr Ch	Prolit 8	Los <u>s</u> Adj Alc	Cr.
To Sales (Sales Reversal)	100.000	by bal bld by electric litings	600,000 - 1500D
To Adj. Net Prolit	1040.000	by Stock (not included in the Closing st.)	<u> </u>
6		by Sales (not included in March)	200.000
		by Stock (goods sent on App basis)	75000



-Pues Practice / 1001 Diventory Done Comment / 1001 Diventory Done Application - Jan 25 L Avyukt upload + Pelegnam Q Hardi